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Lesson 10.3

Data Analysis 13 The Rise and Fall of Cyclins
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Goal 

Interpret data related to cyclin levels during the cell cycle.

Skills Focus

Interpret Graphs, Predict
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 Build Connections 

Because of the universal nature of the genetic code, many of the same processes that occur in simple organisms are also found in more complex ones. This idea is referred to as conservation.
Cyclins are a family of proteins that regulate the timing of the cell cycle in eukaryotes. Research has shown that cyclins play an important role in the cells of the simplest eukaryotes, such as yeasts, and the most complex, such as humans. Cyclins are made and destroyed throughout the cell cycle. To explore how the cyclin level changes during mitosis, scientists measured the cylin level in the dividing cells of clam eggs. The data are shown in the graph.


Analyze and Conclude 

1. Interpret Graphs What does the x-axis on the graph show? How does the interval before the first label on the x-axis compare to the other intervals? Hint: What does the jagged line tell you?
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2. Interpret Graphs What does the y-axis show?

3. Interpret Graphs What do the labels at the top of the graph show and why are those labels important?

4. Interpret Graphs In which part of the cell cycle does cyclin production begin? During which part of the cell cycle is cyclin destroyed?

5. Interpret Graphs Does it take longer for the cell to produce cyclin or to destroy it? How does the shape of the graph help you answer this question?

6. Infer What causes a cell to enter mitosis? What causes a cell to stop dividing and enter interphase?


 Build Science Skills

What would happen to a cell if a regulator that “turns on” the production of cyclin were no longer produced? What would happen if a regulator that “turns off” the production of cyclin were no longer produced? In each case, would the cell produce more cells?

